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To this master, to exclude money; to this master to exclude mules

Overview

The 109 states,’ 2 100 P78 7)1 7202 WK TP 7130 KL 39 Pwn paya. There
is a dispute how to interpret the 9921 v Y95 in this P, regarding mpivi.
According to Pynw "M it includes anything which is 7972 9933, but excluding
money, while according to 2py> 12 Y%K ', it excludes mules.’ Our &7» [ ‘concludes
that this limitation of 2°902 and M7 is derived from the [extra] word [2p (in
this P109).* Moo questions this conclusion.

- SNPYT 1799 VYN DY RPYT DDV LYNM T YIDY To9Y
It is necessary to explain the X773 that one master (¥'"7) excludes only 29202

(but not M779, and the other master (°"2&7) excludes only n1792, but not o°50>.
- ‘NPOYA YNAWN D390 AP 12 ANYIN 299 1D NYT 09990 295 YaN

However according to the texts that do not read; ‘and °''aR% maintains that

money increase in a business’, according to that text -
- D905 19V Y91 MTI9 VIR Y 7098

It is necessary to say that according to >"2X" the word 17> excludes n1792 and it
certainly excludes @%o®>.

MooIN asks:
- 5501919 13581 YT V99 5991 XM 2D Y99 VDI INAN NYP 17919

However there is a difficulty; why does the 705 mention 2 at all (to exclude
2°00> and/or M719), when we can exclude them from the 5551 ¥91 %95 mentioned

U0 (7x) oM.

2 P21yn p2avn is the first 993, the (2°)v7d is 2P 72 XY (sheep, grain, and wine), and 7372 WK (or 12 1nn) is the last
99o.

3 Money and mules (which are sterile) are not 7372 %922 since they do not reproduce (and grow) like 2p" 1713 XX,
However w"7 maintains that mules work and thereby increase the value of their owner’s estate, while >"2x9
maintains, that money can be invested in a business and it will grow (so respectively each one is 71372 9732).

* See later in this nooIN (by footnote # 7).

3 Each one (*"axm w") explained why we should exclude only one but not the other (see footnote # 2).

% According to this X073, it was only w" who explained why we do not exclude M7 (since ¥5ua jHawWn),
however *"2x1 did not give any reason why we should not exclude money; indicating that while according to w"2 we
only exclude 2°05 (but not m779) according to *"2X7 we exclude both M1779 (as *"2X7 maintains) and (certainly)
0°503 as ¥"7 maintains.

7 See footnote # 4.

% 1%¢ and 773 are 7972 992 0w 2*7R, so we include only these items which are 7972 %922 ,excluding M9 and/or
2°50). [The X3 already explained why we need the 2°v75 of 17121 1XX, but there is seemingly no need for 2°.]
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previously?

moon offers an alternate X0%:
= 99 INND 9199 0905 INNRD 912D 192097 759499 ANY) 195

Therefore it appears to my %29 that the text read; ‘to this master (°"2X7), to

include 2°292, and to this master (") to include n1792 (for mpwn) -
= 799 XYY D905 XY 192291 NN KD 2P 2915 KD INT AP 929V TPIVYN RNYM

And now it is properly understood why 3p° is necessary, for if 27> would not

have been written, we would not have included, neither 25592 nor n179p -
- 199929 1N12 1799999 1920 YM MINT

For we would have excluded both of them from the 2°v75 of 371 XX —
- Loyn AR VI PP 293 51 2P 1IN INY 2PNIT XNWA YaN

But now that it states 3251 37131 IRX in the 109, so 2P becomes like an exclusion

following an exclusion, where the rule is -
= 299 XONX VIYIN NN VIYIN PN

That a vy R vy is there only to include (but not to exclude), so -
= 11999952 YNAVNT NPT MTI9 MY NONX PYNY 2499

According to @' the word 2 comes to include only n1798, since they improve

the owners assets with their body working for the owner (but not °502) -
INPDIYA SNAYNT NPT 0903 9299 2PYP 12 9TYIN 2399

And according to >''aR" it includes only 29292 who improve in value when
invested in a business

Summary
The word 2p° (which 1s a V1w n AR VIYN) comes to include either 2’902 or M77D

(which would be excluded on account of 77121 IXX).

Thinking it over
1. Is there any connection between the beginning of NM1901n (whether we are 0712 by

>"2RA that Xpoy2 "nawn 0°500) and the continuation of MdOIN (regarding 2p°)?

2. Is X072 1O (regarding 2p°) also according to the 2°790 who are not 0713 by
°"aR" that Xpoya "nawn 0°5037?

? The mm nnan amends this to read »"1%' (instead of *17Y).

10 7731 1X% reproduce, however N17791 2°503 do not reproduce (in the manner of 171 XX) therefore they are excluded.
1 1731 1RX as 0°v7d (which are both necessary as the X713 explained) is one exclusion, and 25> (which is [seemingly]
not necessary) is an additional exclusion.
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